
Introduction to Solving Quadratics without Factoring

We saw that our method of factoring quadratics does not always work.
We will build up a new way to solve quadratics which can find the
solution(s) for any quadratics.
Example: Find the solutions to:

x2 = 4
How do we ”undo” squaring?
We take the square root!
Taking the square root of both sides, gives:

Our first instinct is that
√

x2 = x
But this is not always true.

Click Here To see what
√

x2 actually is.
Since |x | = 2 we get that x = 2 OR x = −2
Conclusion: The solutions to x2 = 4 are: x = 2,−2

http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_5_failure.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Solving_without_Factoring/sqrt_x_squared.pdf
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